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Quiz 8c — Tips & Practice Problems

disclaimer: Of course, this worksheet doesn’t cover everything that might be on Quiz 8. (or later, on Exam 4)

* Carbon Cycle for atmosphere to remove & add CO;: page 124 palrs (into ocean & from ocean) (p_hotosynthem & resplratlon)

* Use page 378 and lectures (#30-Nov26, #31-Nov28) to know properties-and-uses (related!) for plastics in Big Six. (later, nylon,...)

* Energies of Combustion: it’s “more fair” to compare kJ/gram. not kJ/mole. (e.g. in lab, Cy35HgsO9NS vs CsoHg, in kJ/g, 10 g each)

* octane rating and fuel energy are not correlated: e.g., n-octane (low octane, -20) has more kJ/g than ethanol (high octane, 108). oo
als

1. What has more fuel- energy in kJ/g:(propane vs {-octene) 2- propanol vs(4- octanol2 ethanol VSQ{V[TB_J @)enzene Vs hexane). yarﬁom@
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5. Write rxn-equation for
polymerlzatlon of styrene:

. Draw all 7 isomers

“answer” with formula
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8. Write a reaction- equatlon for polymerization of HOOCCH,CH,COOH + HOCH,(CHz)sCH,OH .
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